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                                                                                                                                Good Luck 

Question 1 (18 points = 6 + 12 )
Show how the value 48.68 would be printed according to the formats shown below. Each square represents one space.
	Format
	Output

	%7.0f
	
	
	 
	
	
	4
	9
	
	
	
	
	
	
	

	%.3f
	4
	8
	.
	6
	8
	0
	
	
	
	
	
	
	
	

	%f
	4
	8
	.
	6
	8
	0
	0
	0
	0
	
	
	
	
	

	%7.1f
	
	
	
	4
	8
	.
	7
	
	
	
	
	
	
	


Each line 1.5  points
Correct number printed (1  points), right location i.e. correct number of blanks (0.5)

For %7.0f  , if the answer is 5 blanks, then 48 instead of 49 (no rounding)     -0.5

 Also in %7.1f if the student puts 1 digit after decimal point, but no rounding -0.5 

in %f , if  some 0’s appear after the number but not 4 0’s as it should be, then -0.5 instead of -1
Find the result of the following expressions: 
	Expression


	Result



	6 >= 4 >= 2

	0

	 127 % 10 % 4


	3

	a and b are integer variables with a=4 and b=7

   a++ * --b


	24

	!1 || 9/2  < 4.5 


	1

	a, b, and c are integer variables  with a=1, b=3, c=2
(double) -b / 3 + a *( b/c*c )


	1.0



	1 + 1.9 >= 4 - 1 && !0  


	0


Note: If the result is double, write it with decimal point.
Each value 2 points

For (double)-b/3…..   if answer is 1 not 1.0   (-1), so he gets 1 instead of 2

Question 2 ( 27 points=6+6+6+3+6 )
What is the output of the following code fragments? 
 Each code fragment is independent from the others.
	int i;

 printf("Enter a value for i >");

 scanf("%d", &i);

 switch(i) {

  case 4: i=i+3;

  case 3:

  case 1: i=i+1;

  case 6: break;

  case 7: i=i+2;

          break;

  case 8: i=i+2; 

  default : i=i+1;

  }

  printf("%d\n",i);

  return 0;

}


	                                                           6 points
input

output

6
6
4
8
2
3
7
9
3
4
8
11
1 point each value

	int x;

printf("Enter a value for x >");

scanf("%d",&x);

if(x > 5 ) {

  if(x< 10){

    if(x>=8)

       printf("DD");

    else

       printf("EE");

  }

  else{

    if ( x >= 0)

      printf("BB");

    else

      printf("AA");

  }

}

else

printf("CC");


	                                                               6 points

input
output

3

CC
7

EE
9
DD
2 points each value


	int i,j;

 int count = 0;

 for(j = 10; j < 28; j+=3)

    ++count ; 

 printf("%d\n",count); 

 count = 0;

 for(j = 0; j <= 90; j++)

    count++;

 printf("%d\n",count);

 for(j = 82; j > 72; j=j-3)

    count = j;

 printf("%d\n",j);

	                                                                 6 points

                                                   OUTPUT
6
91
70
2 points each value

	int x = 15;

do {

if (x%2!=0)

x = x/2;

else

x = x-4;

printf("%d\n",x);

} while ( x > 2);

	                                                                  3 points
                                            OUTPUT
7
3

1

1 point each value

	int i=5;

int j; 

 while (i > 2)

 { for(j=3; j<=i; j++)

      printf("%d\n", i + j);

   i=i-2;

 } 

 printf("%d %d\n",i,j);
Try to look at the output from the top down and from the bottom up.
	6 points
                                           OUTPUT
8
9
10
6
1     4
1 point each value
Each additional value -0.5

Last 2 values not in one line -0.5




Question 3 (24 points=4+5+5+5+5)
Convert the following nested for loops to their equivalent nested while loops.                            4 points
	 for(i=10;i>=2;i=i-2) 

{  k=0;                       for(j=i;j<=10;j=j+3)   

   k=k+j;
}

	i=10;                   0.5
while ( i >= 2)         0.5
{ k=0;                  0.5
  j=i;                  0.5
  while (j <= 10)       0.5
  { k=k+j;              0.5
    j=j+3;              0.5
  }

  i=i-2;                0.5
}
if j=i; comes right before k=0; ok

If order between k=k+j; and j=j+3; is changed -0.5  

each while without brackets -0.5


Convert the following if-else-if  statement to its equivalent switch statement .                              5 points
	if(x==15 || x== 20 )

  y=2*x;

else if (x==23)

  y=x-2;

else

  x=x+5;


	switch(x) {             0.5
  case 15:              

  case 20: y=2*x;    

           break;  2 for this part
  case 23: y=x-2;       

           break;  1.5 for this part
  default: x=x+5;  1 for this part
}
each missing break -0.5
No brackets for switch, no deduction


Write a code fragment that finds the product of odd numbers from 3 to 99; i.e.

product=3*5*7*…..*99 

Make your variables of type double.                                                                                                        5 points
	double i,prod;                    0.5
prod=1;                        1

for(i=3;i<=99;i=i+2)          0.5, 0.5, 1 (increment)

prod=prod*i;                    1.5
using while

double i,prod;                    0.5
prod=1;                        1

i=3;                          0.5
while(i<=99) {          0.5  
prod=prod*i;         1.5
i=i+2;                 1
}                  
 No brackets of while -0.5


Write a code fragment that computes the value of the following expression :
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                                                                                                                                                                         5 points

	 double n,sum;                          0.5
 sum=0;                                1
 for(n=1,n<=100;n++)                   1.5
 sum=sum+pow(-1,n)*pow(x,n+1)/n;        2
using while 
double n,sum;                          0.5
 sum=0;                                1
n=1;                                  0.5 
while( n<=100 )                      0.5
 sum=sum+pow(-1,n)*pow(x,n+1)/n;      2
n++;                                 0.5
}  


Fill in the blanks in the following program so that it prompts the user to enter a radius of a circle, then the program should compute and print the area for that circle:

5 points

	/* Compute a circle's area given its radius */
#include <stdio.h>

# define  PI 3.14159                                   1
int main(void) {

    double radius, area;

    printf("Enter the radius of a circle> ");        1
    scanf("%lf", &radius);                          2
    area = PI * radius * radius;                     1
    printf("The circle's area is %.2f\n", area);

    return (0);
   }

if pow (radius,2) is used without #include <math.h>  -0.5


Question 4: ( 15 points)
Write a complete c program that converts temperatures either from Fahrenheit to Celsius or from Celsius to Fahrenheit according to the user’s choice.  Your program displays the 2 choices as shown below in the sample runs.
Formula to convert from Celsius to Fahrenheit:       [°F] = 9/5 [°C] + 32
Note: If the choice entered by the user is not 1 or 2, the program should display “Wrong choice” message.
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#include <stdio.h>                             

  main() {                                     1 for include and main
  double fah,cel;                     

  int choice;                                  1 for defining vars
  printf("1:Celsius to Fahrenheit\n");

  printf("2:Fahrenheit to Celsius\n");         1 for printing menu
  printf("Enter your choice >");

  scanf("%d",&choice);                         1 for reading choice
  if(choice == 1) {                            1 for selection
    printf("Enter Celsius >");


      0.5 for printing
    scanf("%lf",&cel);                         1 for scanning cel
    fah = 9.0 / 5 * cel + 32;                  1.5 for conversion
    printf("Equiv. temp =%.2f F\n",fah);       1 for printing result
 }

 else if (choice == 2) {                       1 for selection
    printf("Enter Fahrenheit >");                                                                                                                            0.5 for printing
    scanf("%lf",&fah);                         1 for scanning fah
    cel = 5.0 / 9 * (fah - 32);                1.5 for conversion
    printf("Equiv. temp =%.2f C\n",cel);       1 for printing result
 }

 else                                          1 handling wrong input
    printf("wrong choice\n");

   return 0;

}

No brackets between if and else-if    -0.5

No brackets between if-else-if and else  -0.5    

Using switch statement instead of if-else-if

#include <stdio.h>                             

  main() {                                     1 for include and main
  double fah,cel;                     

  int choice;                                  1 for defining vars
  printf("1:Celsius to Fahrenheit\n");

  printf("2:Fahrenheit to Celsius\n");         1 for printing menu
  printf("Enter your choice >");

  scanf("%d",&choice);                         1 for reading choice
  switch(choice)  {                            
  case 1:                                      0.5 for case 
    printf("Enter Celsius >");


      0.5 for printing
    scanf("%lf",&cel);                         1 for scanning cel
    fah = 9.0 / 5 * cel + 32;                  1.5 for conversion
    printf("Equiv. temp =%.2f F\n",fah);       1 for printing result
    break ;                                    0.5 for break
 case 2 :                                      0.5 for case
    printf("Enter Fahrenheit >");                                                                                                                            0.5 for printing
    scanf("%lf",&fah);                         1 for scanning fah
    cel = 5.0 / 9 * (fah - 32);                1.5 for conversion
    printf("Equiv. temp =%.2f C\n",cel);       1 for printing result
    break;                                     0.5 for break
 default:    printf("wrong choice\n");         1 handling wrong input
}
   return 0;

}

Question 5: (16 points)
A file “data.txt” contains an unknown number of scores (real values between 0 and 100).
Write a complete c program that reads these scores and finds and displays on the screen the percentage of scores above 75.
Your program should handle “file not found case” properly.

#include <stdio.h>
#include <stdlib.h>




      1 for include and main
  main() {                                    
  double score,perc;

  int tot,count,status;                       1 for all declarations
  count = 0;                                  1 for initializations
  tot = 0;                                    
  FILE *infile;                               1 for file pointer

  infile = fopen("data.txt","r");             1 for opening the file
  if(infile == NULL) {                        1 catching missing file     
    printf("File not found\n");               0.5 printing error msg
    exit(1);




 
     1 for terminating here
  }

  status = fscanf(infile,"%lf",&score);       3 points for while/for
                                                loop with right scanf
  while(status!=EOF) {

    tot=tot+1;                         
  1 for total update     
    if(score > 75)                                  2 for count update
       count = count + 1;

    status = fscanf(infile,"%lf",&score);

  }

  perc = (double) count / tot * 100;              1.5 for finding perc  
  printf("%.2f percent of scores are above 75\n",perc);   1 printing
  fclose(infile);

  return 0;

}
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